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40° 16' 56"
141° 5 39
3.5km 2.6km

1996 2000 5

( )
(10 11 12 )

1996 2000 5

40° 22" 367, 141° 15

50
-TM
40x 50m

[1/s]

(TCDD) 2.6376E-7

6.4236E-7

1.9212E-7

6.4178E-6

0.0230 [1/day]

0.0555 [1/day]

0.0166 [1/day]

0.5545 [1/day]
[ 2/ (mm hri)]

(Wg) = [ /79

25!1

40

40° 15 &4
141° 7 29"

450

450m

(s mm/hr)1
9.9152E-1
2.6944E-3
0.9113E-3
4.2886E-3

2.6376E-7 [ /sec]
6.4236E-7 [ /sec]
1.9212E-7 [ [sec]
6.4178E-6 [ /sec]

[ 1/ (mm

[ /79

Wg
R 8.314[Pa m3/mol/K]
T [K]
H [Pa m3/mol] (H= [Pa]/ [mol/ m3])
25
25
920
2720
578
25
991.52
2.6944
0.9113
4.2886
[ 1/ (mm hri)]
Wc Wg (/)
-TM Wc [ /5]
[mm/hr]
h [m]
[mm/hr] 1000[m]
(mm  hr1)]
9.9152 x 101
2.6944 x 103
0.9113 x 103
4.2886 x 103
lpgls/
10 1/10 10 1/10
lugl/s/

hr-1)]

T 298.15 [K]

_l/
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